Math 120 In-Class Practice Name: AY\,S wers

Chapter 10 & Chapter 11

(Put the answers in the boxes on the right)
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3. Next, the opposite: Convert 53 to base 7: na |L/ |
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4. Convert 23 to base 5: L.Lf ) 3 /
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That leaes 23-0=3

5. Convert 194 to base 5 (use repeated division): _
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6. Convert 100 to base 3 (use repeated division):
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7. Convert the common Mayan number (base 20) to base ten: ”.. ; |
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8. Convert the common Mayan number (base 20) to base ten:
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9. Convert 946 to Mayan (Convert to base 20 then convert to Mayan symbols for the answer).
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10. Convert the solar calendar number to base ten: v 3 |+ § s
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11. Do the following addition:

b e
ot il s
sai e i L e o
e el ——
.‘%/ 04_—J l
L.-:\‘(L‘/. l'tvoo lHt
| o (1| [l
.4 |l JRLE




